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<h3 id="N"E">NB</h3>

<p><strong>go- k|t</strong> R T =fakr</p>

<p>1, <strong><a href= https //1d246. com/forward?goto https%3A%2F%2Fgithub.com%
Fsony%2Fgobreaker" target— blank" rel="nofollow ugc">gobreaker</a></strong></p>
<p>2. <strong><a href="https://Id246. com/forward7goto https%3A%2F%2Fgithub.com%
Fstreadway%2Fhandy" target="_blank" rel="nofollow ugc">handy</a> </strong></p>
<p>3. <strong><a href="https://Id246.com/forward?goto=https%3A%2F%2Fgithub.com%
Fafex%2Fhystrix-go" target="_blank" rel="nofollow ugc">hystrix-go</a> </strong></p>
<p>hystrix f£ java FRLLRZ, FHATRNEBT go-kit # hystrix BYERTTIE</p>

<h3 id="go-kitfJhystrix" >go-kit A9 hystrix</h3>

<h4 id="MiddlewarefJsLI" >Middleware R9SCH] </h4>

<p>1, Hystrix jR[E] Middleware LttEFSTEERAY endPoint —F Hystrix A endPoint</p>
<p>2. hystrix BIIEANR commanName SRESRAY Hystrix BNRE, FIRE run KWESEITHY
llback ERELA nil</p>

<p>3. %szmjuaa%m middleware €% endPoint</p>

<pre><code class="language-go highlight-chroma"> <span class="highlight-line"> <span cla
s="highlight-cl"> <span class="highlight-kd">func</span> <span class="highlight-nf">Hystr
x</span><span class="highlight-p">(</span><span class="highlight-nx">commandName<
span> <span class="highlight-kt">string</span> <span class="highlight-p">)</span> <span
class="highlight-nx">endpoint</span><span class="highlight-p">.</span><span class="hi
hlight-nx">Middleware</span> <span class="highlight-p">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-k">return</span> <span class="highlight-kd">func</span><span class="highlight-
">(</span><span class="highlight-nx">next</span> <span class="highlight-nx">endpoint<
span><span class="highlight-p">.</span> <span class="highlight-nx">Endpoint</span><sp
n class="highlight-p">)</span> <span class="highlight-nx">endpoint</span><span class="
ighlight-p">.</span> <span class="highlight-nx">Endpoint</span> <span class="highlight-
">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">return</span> <span class="highlight-kd">func</span><span class="highlight
p">(</span> <span class="highlight-nx">ctx</span> <span class="highlight-nx">context</
pan><span class="highlight-p">.</span><span class="highlight-nx">Context</span><span
class="highlight-p">,</span> <span class="highlight-nx">request</span> <span class="hig
light-kd">interface</span> <span class="highlight-p">{}) </span> <span class="highlight-p"
(</span><span class="highlight-nx">response</span> <span class="highlight-kd">interfac
</span> <span class="highlight-p">{},</span> <span class="highlight-nx">err</span> <sp
n class="highlight-kt">error</span><span class="highlight-p">)</span> <span class="highl
ght-p">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-kd">var</span> <span class="highlight-nx">resp</span> <span class="highlig
t-kd" >interface</span> <span class="highlight-p">{}</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-k">if</span> <span class="highlight-nx">err</span> <span class="highlight-o
>:=</span> <span class="highlight-nx">hystrix</span><span class="highlight-p">.</span
<span class="highlight-nf">Do</span> <span class="highlight-p">(</span> <span class="hi
hlight-nx">commandName</span><span class="highlight-p">,</span> <span class="highl
ght-kd">func</span><span class="highlight-p">()</span> <span class="highlight-p">(</s
an><span class="highlight-nx">err</span> <span class="highlight-kt">error</span> <span
lass="highlight-p">)</span> <span class="highlight-p">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-nx">resp</span><span class="highlight-p">,</span> <span class="highlight
nx">err</span> <span class="highlight-p">=</span> <span class="highlight-nf">next</sp
n><span class="highlight-p">(</span><span class="highlight-nx">ctx</span> <span class=
highlight-p">,</span> <span class="highlight-nx">request</span><span class="highlight-p
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>)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-k">return</span> <span class="highlight-nx">err</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas

="highlight-p">},</span> <span class="highlight-kc">nil</span><span class="highlight-p">
;</span> <span class="highlight-nx">err</span> <span class="highlight-o">!=</span> <s
an class="highlight-kc">nil</span> <span class="highlight-p">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span ¢
ass="highlight-k">return</span> <span class="highlight-kc">nil</span><span class="highl
ght-p">,</span> <span class="highlight-nx">err</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-p">}</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas

="highlight-k">return</span> <span class="highlight-nx">resp</span><span class="highli
ht-p">,</span> <span class="highlight-kc">nil</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-p">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-p">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-p">}</span>

</span></span></code> </pre>

<h4 id="ZEPighystrixBt&" > 2 Fin hystrix Bt& </h4>

<p>1. Timeout [iFEEATRIATE]] </p>

<p>2. ErrorPercentThreshold [f1FHINAYsEIRELHI] </p>

<p>3. SleepWindow [JBHiFEZA=HRE—IRIEKR] </p>

<p>4, MaxConcurrentRequests [ RIFAIRAFH RIEKE] </p>

<p>5. RequestVolumeThreshold [iFaiEARRIR/INEREL, EOARKEIER 10S]) </p>
<pre><code class="language-go highlight-chroma"> <span class="highlight-line"> <span cla
s="highlight-cl"> <span class="highlight-nx">commandName</span> <span class="highligh
-0">:=</span> <span class="highlight-s">"my-endpoint"</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-nx">hystrix</span> <span class="highlight-p">.</span> <span class="highlight-nf">Co
figureCommand</span> <span class="highlight-p">(</span> <span class="highlight-nx">c
mmandName</span> <span class="highlight-p">,</span> <span class="highlight-nx">hystr
x</span><span class="highlight-p">.</span><span class="highlight-nx">CommandConfig
/span><span class="highlight-p">{</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">Timeout</span> <span class="highlight-p">:</span> <span class="hi
hlight-mi">1000</span> <span class="highlight-o">*</span> <span class="highlight-mi">
0</span> <span class="highlight-p">,</span>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-nx">ErrorPercentThreshold</span> <span class="highlight-p">:</span> <span clas
="highlight-mi">1</span><span class="highlight-p">,</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">SleepWindow </span> <span class="highlight-p">:</span> <span class=
highlight-mi">10000</span> <span class="highlight-p">,</span>

</span></span><span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-nx">MaxConcurrentRequests</span> <span class="highlight-p">:</span> <span cl
ss="highlight-mi">1000</span> <span class="highlight-p">,</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">RequestVolumeThreshold </span> <span class="highlight-p">:</span> <span cl
ss="highlight-mi">5</span> <span class="highlight-p">,</span>

</span></span> <span class="highlight-line"> <span class="highlight-cl"> <span class="high
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ight-p">})</span>

</span></span></code></pre>

<p>IEIEHTREHRIEE </p>

<pre><code class="language-go highlight-chroma"> <span class="highlight-line"> <span cla
s="highlight-cl"> <span class="highlight-nx">breakerMw</span> <span class="highlight-o"
:=</span> <span class="highlight-nx">circuitbreaker</span> <span class="highlight-p">.</
pan><span class="highlight-nf">Hystrix</span> <span class="highlight-p">(</span><span
lass="highlight-nx">commandName</span> <span class="highlight-p">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-c1">// SENERT=RIEMS:

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"> </span> <span class="highlight-nx">reqEndPoint</span> <span class="hi
hlight-p">=</span> <span class="highlight-nf">breakerMw</span> <span class="highlight
p">(</span><span class="highlight-nx">reqEndPoint</span> <span class="highlight-p">)</
pan>

</span></span></code></pre>

<h4 id="5e2({r3" > eB{{F5 </h4>

<p>1. KIAARSSH service</p>

<p>2. EZEEAINEFint UG INERECE </p>

<p>3. EIMEREXES</p>

<pre><code class="language-go highlight-chroma"> <span class="highlight-line"> <span cla
s="highlight-cl"> <span class="highlight-kn">package</span> <span class="highlight-nx">
ain</span>

</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kn">import</span> <span class="highlight-p">(</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"context" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"fmt" </span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/afex/hystrix-go/hystrix" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/go-kit/kit/circuitbreaker" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/go-kit/kit/endpoint" </span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/go-kit/kit/log" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/go-kit/kit/sd" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/go-kit/kit/sd/etcdv3" </span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"github.com/go-kit/kit/sd/Ib" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"google.golang.org/grpc" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"grpc-test/pb" </span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"io"</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-s">"time" </span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-p">)</span>
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</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">func</span> <span class="highlight-nf">main</span> <span class="highlight-p">(
</span> <span class="highlight-p">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">commandName</span> <span class="highlight-o0">:=</span> <span class="hi
hlight-s">"my-endpoint"</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">hystrix</span> <span class="highlight-p">.</span> <span class="highlight-nf"
ConfigureCommand</span> <span class="highlight-p">(</span> <span class="highlight-nx
>commandName</span> <span class="highlight-p">,</span> <span class="highlight-nx" >
ystrix</span> <span class="highlight-p">.</span> <span class="highlight-nx">CommandCo
fig</span> <span class="highlight-p">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">Timeout</span> <span class="highlight-p">:</span> <span class="h
ghlight-mi">1000</span> <span class="highlight-o">*</span> <span class="highlight-mi"
30</span><span class="highlight-p">,</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">ErrorPercentThreshold </span><span class="highlight-p">:</span> <span cla
s="highlight-mi">1</span> <span class="highlight-p">,</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">SleepWindow</span> <span class="highlight-p">:</span> <span class
"highlight-mi">10000</span><span class="highlight-p">,</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=

highlight-nx">MaxConcurrentRequests</span><span class="highlight-p">:</span> <span c
ass="highlight-mi">1000</span> <span class="highlight-p">,</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">RequestVolumeThreshold </span> <span class="highlight-p">:</span> <span
lass="highlight-mi">5</span> <span class="highlight-p">,</span>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-p">})</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">breakerMw</span> <span class="highlight-o0">:=</span> <span class="highli
ht-nx">circuitbreaker</span> <span class="highlight-p">.</span> <span class="highlight-nf
>Hystrix</span> <span class="highlight-p">(</span><span class="highlight-nx">command
ame</span><span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kd">var</span> <span class="highlight-p">(</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-c1">//iEfA it

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla

s="highlight-c1"></span> <span class="highlight-nx">etcdServer</span> <span class=
highlight-p">=</span> <span class="highlight-s">"127.0.0.1:2379" < /span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=

highlight-c1" > //4ErAIRRSS RIS

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">prefix</span> <span class="high
ight-p">=</span> <span class="highlight-s">"/services/book/" </span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">ctx</span> <span class="highlight-p">=</span> <span class="highlight-nx
>context</span><span class="highlight-p">.</span><span class="highlight-nf">Backgrou
d</span><span class="highlight-p">()</span>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
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ghlight-p">)</span>
</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">options</span> <span class="highlight-o">:=</span> <span class="highlight-
x">etcdv3</span><span class="highlight-p">.</span> <span class="highlight-nx">ClientOpt
ons</span> <span class="highlight-p">{</span>
</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">DialTimeout</span><span class="highlight-p">:</span> <span class="highl
ght-nx">time</span><span class="highlight-p">.</span> <span class="highlight-nx">Seco
d</span> <span class="highlight-o">*</span> <span class="highlight-mi">3</span><span
class="highlight-p">,</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">DialKeepAlive</span> <span class="highlight-p">:</span> <span class="highl
ght-nx">time</span> <span class="highlight-p">.</span> <span class="highlight-nx">Seco
d</span> <span class="highlight-o">*</span> <span class="highlight-mi">3</span><span
class="highlight-p">,</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-p">}</span>
</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-c1">//iEEEE M0
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">client</span> <span class="highlig
t-p">,</span> <span class="highlight-nx">err</span> <span class="highlight-o0">:=</span
<span class="highlight-nx">etcdv3</span> <span class="highlight-p">.</span> <span clas
="highlight-nf">NewClient</span> <span class="highlight-p">(</span><span class="highli
ht-nx">ctx</span><span class="highlight-p">,</span> <span class="highlight-p">[]</span
<span class="highlight-kt" >string</span> <span class="highlight-p">{</span><span class=
highlight-nx">etcdServer</span> <span class="highlight-p">},</span> <span class="highlig
t-nx">options</span><span class="highlight-p">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-k">if</span> <span class="highlight-nx">err</span> <span class="highlight-o">!=
/span> <span class="highlight-kc">nil</span> <span class="highlight-p">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nb">panic</span> <span class="highlight-p">(</span><span class="highlight-nx
>err</span><span class="highlight-p">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-p">}</span>
</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">logger</span> <span class="highlight-o">:=</span> <span class="highlight-n
">log</span><span class="highlight-p">.</span> <span class="highlight-nf">NewNopLog
er</span><span class="highlight-p">()</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
?hlig ht-c1">//QIFESLHIEIRES, WETEEES WatchizlTetcprefixiy B RN EHEFHIIRS LA
i
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">instancer</span><span class="high
ight-p">,</span> <span class="highlight-nx">err</span> <span class="highlight-0">:=</s
an> <span class="highlight-nx">etcdv3</span><span class="highlight-p">.</span><span c
ass="highlight-nf">Newlnstancer</span> <span class="highlight-p">(</span> <span class="
ighlight-nx">client</span><span class="highlight-p">,</span> <span class="highlight-nx"
prefix</span><span class="highlight-p">,</span> <span class="highlight-nx">logger</spa
><span class="highlight-p">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-k">if</span> <span class="highlight-nx">err</span> <span class="highlight-o">!=
/span> <span class="highlight-kc">nil</span> <span class="highlight-p">{</span>
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</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nb">panic</span><span class="highlight-p">(</span> <span class="highlight-nx
>err</span><span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-p">}</span>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-c1">//fi@mm ey, HWEIESRIEFactoryFIRITRYZISLAICIE endPointFHiTFinstanc
iV ahEE#HFactoryBlEZfJendPoint

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">endpointer</span> <span class="h
ghlight-0">:=</span> <span class="highlight-nx">sd </span> <span class="highlight-p">.</
pan><span class="highlight-nf">NewEndpointer</span> <span class="highlight-p">(</spa
> <span class="highlight-nx">instancer</span> <span class="highlight-p">,</span> <span c
ass="highlight-nx">reqFactory</span><span class="highlight-p">,</span> <span class="hi
hlight-nx">logger</span> <span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-c1"> /@2 ta#kIEes

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">balancer</span> <span class="hig
light-0">:=</span> <span class="highlight-nx">lb</span> <span class="highlight-p">.</sp
n><span class="highlight-nf">NewRoundRobin</span> <span class="highlight-p">(</span
<span class="highlight-nx">endpointer</span><span class="highlight-p">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> B LABS GEE e EEFREUE X endPoint, &iEiERK
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  reqEndPoint, := balancer.Endpoint()

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm">  tBEJLAET retryie X =R EIHITIE K

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-nx">reqEndPoint</span> <span class="highlight-0">:=</span> <span class="highli
ht-nx">lb</span> <span class="highlight-p">.</span><span class="highlight-nf">Retry</s
an><span class="highlight-p">(</span><span class="highlight-mi">3</span> <span class=
highlight-p">,</span> <span class="highlight-mi">100</span> <span class="highlight-o" >
</span><span class="highlight-nx">time</span><span class="highlight-p">.</span> <span
class="highlight-nx">Second</span> <span class="highlight-p">,</span> <span class="high
ight-nx">balancer</span><span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-c1"> /i nEkreRiEN

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">reqEndPoint</span> <span class=
highlight-p">=</span> <span class="highlight-nf">breakerMw</span> <span class="highli
ht-p">(</span> <span class="highlight-nx">regEndPoint</span> <span class="highlight-p" >
</span>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
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ghlight-c1"> //AMEBATAILAEE endPoint BHEER T

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-nx">req</span> <span class="highlight
0">:=</span> <span class="highlight-kd">struct</span> <span class="highlight-p">{}{} </s
an>

</span></span> <span class="highlight-line"> <span class="highlight-cI"> <span class="h
ghlight-k">for</span> <span class="highlight-nx">i</span> <span class="highlight-o0">:=<
span> <span class="highlight-mi">1</span> <span class="highlight-p">;</span> <span cla
s="highlight-nx">i</span> <span class="highlight-o">&lt;=</span> <span class="highlight
mi">20</span> <span class="highlight-p">;</span> <span class="highlight-nx">i</span> <
pan class="highlight-o0">++</span> <span class="highlight-p">{</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">if</span> <span class="highlight-nx">_</span><span class="highlight-p">,</
pan> <span class="highlight-nx">err</span> <span class="highlight-p">=</span> <span c
ass="highlight-nf">reqEndPoint</span> <span class="highlight-p">(</span> <span class="h
ghlight-nx">ctx</span><span class="highlight-p">,</span> <span class="highlight-nx">re
</span><span class="highlight-p">);</span> <span class="highlight-nx">err</span> <span
class="highlight-0">!=</span> <span class="highlight-kc">nil</span> <span class="highli
ht-p">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-nx">fmt</span> <span class="highlight-p">.</span> <span class="highlight-nf"
Printin</span> <span class="highlight-p">(</span> <span class="highlight-s">"ZgiiJ&): "</
pan> <span class="highlight-p">,</span> <span class="highlight-nx">time</span> <span cl
ss="highlight-p">.</span> <span class="highlight-nf">Now</span> <span class="highlight-
">().</span> <span class="highlight-nf">Format</span> <span class="highlight-p">(</span
<span class="highlight-s">"2006-01-02 15:04:05.99" </span> <span class="highlight-p">))</
pan>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-nx">fmt</span><span class="highlight-p">.</span><span class="highlight-nf"
Println</span> <span class="highlight-p">(</span> <span class="highlight-nx">err</span>
span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-nx">time</span> <span class="highlight-p">.</span> <span class="highlight-nf
>sleep</span> <span class="highlight-p">(</span> <span class="highlight-mi">1</span> <
pan class="highlight-0">*</span> <span class="highlight-nx">time</span><span class="hi
hlight-p">.</span><span class="highlight-nx">Second </span> <span class="highlight-p">)
/span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-p">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-p">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-p">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-c1">// BITENRY LHbIE BIEXIARTIERendPoint

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-kd">func</span> <span class="highlight-
f">reqFactory</span> <span class="highlight-p">(</span><span class="highlight-nx">insta
ceAddr</span> <span class="highlight-kt">string</span> <span class="highlight-p">)</sp
n> <span class="highlight-p">(</span> <span class="highlight-nx">endpoint</span><span
class="highlight-p">.</span><span class="highlight-nx">Endpoint</span> <span class="hi
hlight-p">,</span> <span class="highlight-nx">io</span><span class="highlight-p">.</sp
n> <span class="highlight-nx">Closer</span> <span class="highlight-p">,</span> <span cla
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s="highlight-kt">error</span><span class="highlight-p">)</span> <span class="highlight-
">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-k">return</span> <span class="highlight-kd">func</span> <span class="highlight-
">(</span><span class="highlight-nx">ctx</span> <span class="highlight-nx">context</s
an><span class="highlight-p">.</span><span class="highlight-nx">Context</span><span c
ass="highlight-p">,</span> <span class="highlight-nx">request</span> <span class="highl
ght-kd">interface</span> <span class="highlight-p">{})</span> <span class="highlight-p" >
</span><span class="highlight-kd">interface </span> <span class="highlight-p">{},</span>
<span class="highlight-kt">error</span><span class="highlight-p">)</span> <span class=
highlight-p">{</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">fmt</span> <span class="highlight-p">.</span> <span class="highlight-nf">P
intin</span> <span class="highlight-p">(</span> <span class="highlight-s">"{EX&5: "</s
an><span class="highlight-p">,</span> <span class="highlight-nx">instanceAddr</span> <
pan class="highlight-p">,</span> <span class="highlight-s">"ZgAJ[&): " </span><span clas
="highlight-p">,</span> <span class="highlight-nx">time</span> <span class="highlight-p
>.</span> <span class="highlight-nf">Now</span> <span class="highlight-p">().</span><s
an class="highlight-nf">Format</span> <span class="highlight-p">(</span><span class="hi
hlight-s">"2006-01-02 15:04:05.99" </span> <span class="highlight-p">))</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">conn</span> <span class="highlight-p">,</span> <span class="highlight-nx"
err</span> <span class="highlight-o">:=</span> <span class="highlight-nx">grpc</span>
span class="highlight-p">.</span> <span class="highlight-nf">Dial </span> <span class="hi
hlight-p">(</span> <span class="highlight-nx">instanceAddr</span> <span class="highlight
p">,</span> <span class="highlight-nx">grpc</span> <span class="highlight-p">.</span>
span class="highlight-nf">Withlnsecure </span> <span class="highlight-p">()) </span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">if</span> <span class="highlight-nx">err</span> <span class="highlight-o">
=</span> <span class="highlight-kc">nil</span> <span class="highlight-p">{</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-nx">fmt</span> <span class="highlight-p">.</span><span class="highlight-nf"
Printin</span> <span class="highlight-p">(</span><span class="highlight-nx">err</span>
span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span clas
="highlight-nb">panic</span><span class="highlight-p">(</span><span class="highlight-s
>"connect error" </span><span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-p">}</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=

highlight-k" >defer</span> <span class="highlight-nx">conn</span><span class="highlight
p">.</span><span class="highlight-nf">Close</span> <span class="highlight-p">()</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">bookClient</span> <span class="highlight-0">:=</span> <span class="highl
ght-nx">book</span> <span class="highlight-p">.</span> <span class="highlight-nf">New
ookServiceClient</span><span class="highlight-p">(</span> <span class="highlight-nx">c
nn</span><span class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">bi</span> <span class="highlight-p">,</span> <span class="highlight-nx">er
</span> <span class="highlight-0">:=</span> <span class="highlight-nx">bookClient</sp
n><span class="highlight-p">.</span> <span class="highlight-nf">GetBookInfo</span> <sp
n class="highlight-p">(</span> <span class="highlight-nx">context</span> <span class="hi
hlight-p">.</span> <span class="highlight-nf">Background</span> <span class="highlight-
">(),</span> <span class="highlight-o">&amp; </span> <span class="highlight-nx">book</
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pan> <span class="highlight-p">.</span> <span class="highlight-nx">BookInfoParams</spa
><span class="highlight-p">{</span> <span class="highlight-nx">Bookld </span><span clas
="highlight-p">:</span> <span class="highlight-mi">1</span><span class="highlight-p">}
</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">fmt</span> <span class="highlight-p">.</span> <span class="highlight-nf">P
intin</span> <span class="highlight-p">(</span><span class="highlight-nx">bi</span><sp
n class="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">fmt</span> <span class="highlight-p">.</span> <span class="highlight-nf">P
intin</span> <span class="highlight-p">(</span><span class="highlight-s">" "</span>

span class="highlight-p">,</span> <span class="highlight-s" > "3RENP£&1¥15" </span> <span
lass="highlight-p">)</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-nx">fmt</span> <span class="highlight-p">.</span> <span class="highlight-nf">P
intln</span> <span class="highlight-p">(</span> <span class="highlight-s">" "</span>

span class="highlight-p">,</span> <span class="highlight-s">"bookld: 1"</span><span cla
s="highlight-p">,</span> <span class="highlight-s">" =&gt; "</span><span class="highlig
t-p">,</span> <span class="highlight-s">"bookName:"</span><span class="highlight-p">,
/span> <span class="highlight-nx">bi</span> <span class="highlight-p">.</span> <span cla
s="highlight-nx">BookName</span> <span class="highlight-p">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-k">return</span> <span class="highlight-kc">nil</span><span class="highlight-
">,</span> <span class="highlight-kc">nil</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-p">},</span> <span class="highlight-kc">nil</span> <span class="highlight-p">,</
pan> <span class="highlight-kc">nil</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-p">}</span>

</span></span></code> </pre>

<h4 id="HIHICR">HWHICFR </h4>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">24giAda): 2018-05-02 16:10:19.71

</span></span><span class="highlight-line"> <span class="highlight-cl">no endpoints avai
able (previously: no endpoints available; no endpoints available)

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giA$&: 2018-05
02 16:10:20.71

</span></span><span class="highlight-line" > <span class="highlight-cl">no endpoints avai
able (previously: no endpoints available; no endpoints available)

</span></span><span class="highlight-line"> <span class="highlight-cl" > 245iH[&): 2018-05
02 16:10:21.71

</span></span><span class="highlight-line"> <span class="highlight-cl">no endpoints avai
able (previously: no endpoints available; no endpoints available)

</span> </span><span class="highlight-line"> <span class="highlight-cl" > ZgiA[&): 2018-05
02 16:10:22.71

</span></span><span class="highlight-line"> <span class="highlight-cl">no endpoints avai
able (previously: no endpoints available; no endpoints available)

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giA3&: 2018-05
02 16:10:23.71

</span></span><span class="highlight-line" > <span class="highlight-cl">no endpoints avai
able (previously: no endpoints available; no endpoints available)

</span></span><span class="highlight-line"> <span class="highlight-cl|">2018/05/02 16:10:
4 hystrix-go: opening circuit my-endpoint

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giAd&: 2018-05
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02 16:10:24.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span></span><span class="highlight-line"> <span class="highlight-cl">ZgiAJja: 2018-05
02 16:10:25.71

</span></span> <span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span></span><span class="highlight-line"> <span class="highlight-cl" > ZgiA[&): 2018-05
02 16:10:26.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giAd&: 2018-05
02 16:10:27.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 245iH[&): 2018-05
02 16:10:28.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > ZgiA[&): 2018-05
02 16:10:29.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giA$&: 2018-05
02 16:10:30.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 245iH[&): 2018-05
02 16:10:31.71

</span></span> <span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > ZgiA[&): 2018-05
02 16:10:32.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giAd&: 2018-05
02 16:10:33.71

</span></span><span class="highlight-line"> <span class="highlight-cl" > hystrix: circuit op
n

</span></span> <span class="highlight-line"> <span class="highlight-cl">ZgiAJjg: 2018-05
02 16:10:34.71

</span></span><span class="highlight-line"> <span class="highlight-cl">no endpoints avai
able (previously: no endpoints available; no endpoints available)

</span></span><span class="highlight-line" > <span class="highlight-cl">2018/05/02 16:10:
4 hystrix-go: allowing single test to possibly close circuit my-endpoint

</span></span> <span class="highlight-line"> <span class="highlight-cl">ZgiAJjg: 2018-05
02 16:10:35.71

</span></span> <span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > ZgiA[&): 2018-05
02 16:10:36.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 24giAd&: 2018-05
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02 16:10:37.71

</span></span><span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span> </span><span class="highlight-line"> <span class="highlight-cl" > 245iH[&): 2018-05
02 16:10:38.71

</span></span> <span class="highlight-line"> <span class="highlight-cl">hystrix: circuit op
n

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span> <span class="highlight-line"> <span class="highlight-cl">Process finished w
th exit code 0

</span></span></code> </pre>

<p>Ed LERYEHICRA SR IRNERE: </p>

<p>1. B 5 FKHHEARRNEIR, iREALR circuit FFE</p>

<p>2. circuit AEEIBERBHTEX</p>

<p>3. circuit Fig 10S j7, SleepWindow i &CiEKiZELERI</p>
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